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1. Introduction

According to the incoming LS CP-110027 from CT4 on LCLS, it states that 

“Note that during discussions in the CT4#52 meeting, some concerns were raised regarding these optional configurations but without any substantiated technical justification, and therefore this may be discussed further in CT Plenary.”
And the issue is that, C4-110920 was agreed to be incorporated into the TS23.284 in the last CT4 meeting although objections by China Mobile, ZTE and Huawei, which can be seen from Chairman’s minutes.
In this paper, source companies still believe there is no requirement to introduce such optional LCLS configuration values raised in C4-110920 for the LCLS functionality. And those values without requirement shall not be specified in the 3GPP TS, even without any technical problem.
2. Discussion
In the C4-110920, there are 5 values for the LCLS configuration, see as follow:
1
connected both-way in the BSS (normal LCLS connection); 

2
connected both-way in the BSS and bi-casted UL to the Core Network;

3
connected both-way in the BSS and send access DL from the Core Network (BSS may combine or replace local DL data with DL data from the Core Network);

4
connected both-way in the BSS and send access DL from the Core Network, block local DL (BSS shall block local DL data but continue send UL data locally);

5
connected both-way in the BSS and bi-casted UL to the CN and send access DL from the Core Network, block local DL (BSS shall block local DL data but continue send UL data locally).

Value 1

It is used when there are no ongoing supplementary services and lawful interception.
Source companies are fine with the value 1.
Value 2
It is used when there are no ongoing supplementary services, but lawful interception is activated in the CN.

Source companies are fine with the value 2.

Value 3 and Value 4
Both value 3 and value 4 are used for the same scenario that is, when there is no ongoing lawful interception, but the CN needs to send some DL dates to the users, i.e. CN needs to insert some tones or announcements into the DL dates.
Therefore, it is believed that specify either values 4 or value 5 is enough. There is no reason to introduce two different values for the same scenario in the TS.
Moreover, since both value 3and value 4 are optional for the BSS and CN to support, it may cause some compatible problems, e.g. both MSC and BSS willing to support the tones and announcements scenario, but unfortunately the CN only support value 3, and the BSS only support value 4, therefore when the CN indicates the value3 to the BSS, the BSS will response the requested LCLS configuration is not supported by the BSS, and finally cause LCLS break.
Furthermore, actually GERAN2 has raised a question related to this LCLS configuration in GP-102074, see the question as follow:

“Question 2: For the BSS supports this optional solution for mid-call tones/announcements, if the LCLS-Configuration IE set to "Connect LCLS plus DL Send Access" is received by the BSS, which of the following actions shall BSS perform? GERAN2 kindly asks CT4 to provide clarification on it.
a. The BSS needs always detect if there is incoming data packets from the CN, and only in case the incoming data packets from the CN is detected, the BSS insert them in the stream towards the locally served UE. 

b. The BSS needs to detect if there is incoming data packets from the CN, once the BSS detects there is incoming data packet from CN, the BSS will always transmit the incoming data packets received from the CN to the MS and always discard incoming data packets received from the internal path of the BSS. 

c. There has no need for the BSS to perform the incoming data packets detection, but always transmit the incoming data packets received from the CN to the MS and always discard incoming data packets received from the internal path of the BSS.”
Source companies think above “bullet a” has the same meaning with “value 3”, and “bullet c” has the same meaning with “value 4”. 

And the answer from CT4 to this question can be found in C4-110409, and stated as follow.
“Answer 2: 

The selection of any of the above options by BSS is up to the individual BSS vendor implementation.  

For mid-call insertion of tones/announcements using this mechanism, a LCLS-Connect-Control message is sent from the Core Network in order to request the modification of the LCLS Configuration in order to allow or stop such DL send access from the core network.  The LCLS-Configuration IE is set to "Connect LCLS plus DL send access" to allow the tone to be forwarded to the local user, and the LCLS-Configuration IE is set to "Connect LCLS both-way" to stop the tone being forwarded to the local user, see Clause 14.6.2 of TS 23.284. These messages could be used by the BSS to determine when incoming data packets are coming from the Core Network, but standards should not restrict BSS implementations from handling the tones/announcements in parallel or interleaved with local user data.

Note that when LCLS Configuration in the BSS is set to "Connect LCLS both-way", the BSS shall ignore any incoming data packets sent from the Core Network.”
Therefore, according to this answer provided by CT4, that value 3 (i.e.“BSS may combine or replace local DL data with DL data from the Core Network”) and value 4 (i.e. “BSS shall block local DL data but continue send UL data locally”) are related to the BSS implementations, and should not be specified.
Value 5
It seems this value is combined by value 2and value 4, source companies are interested in why this value cannot be combined by value 2 and value 3, because the value 3 and value 4 cover the same use case as stated above.
3. Conclusion

The value 3 and value 4 in LCLS configuration cover the same scenario. And there is no requirements to introduce two different solutions two solve the same problem, especially for the TS.
4. Proposal

It is proposed to remove either value 3 or value 4 from the LCLS configuration.
